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3.

1-34+5-7+9-11+13-15 & AAts}HA?

@ 68 @ -68 ® 0 @—8 © 8

{

1+(-3)}+ {6+ (-7} + {9+ (-11)} + {13+ (-15)}
(=2) +(-2)+(-2) + (-2)
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a=-3+4=(-3)+(+4) = +1,
b=-5-(-2) = (-5) + (+2) = -3
wehA] a4+ b = -2 o]t}
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12=22x3,18=2x32 0|28, H4FH4E22x3%2, = 36
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@ 1-31<0 @ -11<-13
@|—16|<|—17| @ 15>19

® |+21 <|-20]
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D|-3=3>0

@ -11>-13
®|-16/=16<|-17 =17
@ 15 <19

® |+21]=21>-20] =20
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1904 1007HA] 9] AFA4=2 o3 Zro
28 = EolE Ut

(17 27 3)’ (27 37 4)7 (37 47 5)7 Tty (987 997 100)

o, Al 2] o] 21 9] vl A2 B

O 12 @ 13 3®)14

~&B

A&t Al 7R S

(a-1, a, a+1) (2<a<99)2t 5HH,
(@a=1)+(a) + (a+ 1) =(21 2] vi)
= 3a = (219] ¥}

= a = (7] H}%)

L 2<a<99d o, 79 v 1470
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12. 2x5°x7 9 oF0] Agrb1s A [ |gto]
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122 & U5H 4 7F B£513 186 = UrH 3 o] BEQE & Fofl A
7Hg 22 45 FotH?
@ 3 @ 4 ©) X @ 9 ® 63

126 =2x3%2x7,189 =33 x 7 0|2
B4 32 x 7= 63,

63 9] oF F UM 4 Bt & =7, 9, 21, 63
wetA 7HY A2 = 7ol




14. a=(+7.6)+(-25)—-(+1.1) , b= (+

a+b o] 2
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16. F Z<d5 A, B oA A x B 9] gho] 1440 o], g eF47 12 &
i, 27} 7P A2 T Ao e

O 11 @ 36 ® 72 (@)84 ® 108

B ‘

X AZHSE L olg) 6FH 1440 = 12 x L ] B2 L = 120

12) A B
a b

12xaxb=120

axb=10 (&, a, b= A=)

A=12xa, B=12xb °]1L A> B2 3}
a=10,b=1%=a=05b=2
(i)a=10,b=1%
A-B=10x12-1x12=108

(ii)a=5 b=2%2 u
A-B=5x12-2x12=36

upebA], 27F 71 A2 = AFd 4= 60, 24 ©fH
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19. o5 F I gl 7P 2 A2? (4, x>0, y<0)

@ xxy+y © xxxXy

® -3xxXxy @ (-3)xxxXxxyxy
® 6 @ © ®e
ONC) ® & Qo

B

Qxy+y = xy<0, y<0°EE xy+y<0

Ox*y = x2>0, y< 09|22 x?y<0

©® -3xy > —-3<0, x>0, y<0°EZ -3xy>0

@ (-3)x*y? > -3<0, x2>0, y?>>0°]B2 -3x%2 <0




20. T 35 a, b ol oked Thee] Foi7 Mg ALgatel {(-2)0T) +
{(12 % 3) * 5} & FL6}H?

aob=axb-2a, axb="2a-b>

@s o-1 0:2 @ 4 ® 9

(=2) 0 7= (=2) x 7—2(=2) = (-14) + 4 = -10,
12+3=2x12-(3)>=24-9 =15,

{(=2) o T} + {(12 % 3) % 5}

=-10+ (15 *5)

=10+ (2 x 15 - 5%)

=-10+5=-5




